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QUESTION 1

A vCloud Automation Center administrator needs to allow users to revert their machines to their initial deployment
state. 

What should the administrator do? 

A. Enable the Reprovision option in the blueprint. 

B. Enable the Snapshot option in the blueprint. 

C. Enable the Linked Clone option in the blueprint. 

D. Enable the Destroy option in the blueprint. 

Correct Answer: A 

 

QUESTION 2

An administrator needs to create a two-node virtual machine cluster in a vSphere environment that uses a Fibre
Channel SAN. The clustering software does not have a SCSI target or a SCSI command pass-through requirement. 

Which VMware storage type should the administrator use? 

A. Physical RDM 

B. VMFS 

C. Virtual RDM 

D. NFS 

Correct Answer: B 

 

QUESTION 3

An administrator needs to create property definitions in the Property Dictionary. After clicking on Blueprints under the
Infrastructure tab, the administrator notices that the Property Dictionary menu isn\\'t visible. 

What is the issue? 

A. The administrator doesn\\'t have the Fabric Administrator role assigned. 

B. The administrator doesn\\'t have the Tenant Administrator role assigned. 

C. The Property Dictionary is located under the Administration Tab. 

D. The Property Dictionary is located in the Instance Types menu under the Infrastructure Tab. 

Correct Answer: A 
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QUESTION 4

A virtual machine is receiving a large number of network packets, which is affecting the performance of other virtual
machines connected to the same virtual network. 

What should the vSphere administrator do to resolve the issue? 

A. Migrate the virtual machine to a standard switch that has been configured for ingress traffic shaping 

B. Configure the distributed switch to which the virtual machine is connected for ingress traffic shaping 

C. Migrate the virtual machine to a different port group on the same distributed switch 

D. Enable Network I/O Control on the standard switch to which the virtual machine is connected 

Correct Answer: B 

 

QUESTION 5

An administrator needs to export system logs for an ESXi 5.5 host to determine the root cause for a host performance
issue. This host supports manifest-driven exports of system logs. 

Which manifest is selected by default during the export system log wizard? 

A. Userworld 

B. Hostworld 

C. PerformanceSnapshot 

D. HungVM 

Correct Answer: A 
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